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E(X,+Xg +Xc)=E(X,)+E(Xg)+E(Xc)=100+80+120=300
var(X, + Xg + X¢ )=var(X,)+var(Xg )+ var(Xc )=50° +16° + 25” = 3381

O 4 X+ Xe :\/var(XA + Xg + X ) =+/3381=58.2
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P(Y <260) = P(z <%z—0.6885)=0.2456 (hi#
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We are to construct a 95% confidence interval for the difference between the mean lifetimes

of two kinds of light bulbs, given that a random sample of 40 light bulbs of the first kind
lasted on the average 418 hours of continuous use and 50 light bulbs of the second kind
lasted on the average 402 hours of continuous use.
knowntobe o,=40 and o, =32.
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n =40, X =418, o,=40, n,=50, X,=402, o, =32

The population standard deviations are

2 2 2 2
4 =% -X,=418-402=16, o, = 0—1+ﬁ=\/40 42 77769
n n, 40 50
= Y ~N(16,7.7769)
£=7, 4,0y =1.96%7.7769=15.24

Cl ={16-15.2< 1 — 11, <16+15.2} = {0.8< gy — 1, <31.2}
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z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.0000  0.0040  0.0080  0.0120  0.0160| 0.0199  0.0239  0.0279  0.0319  0.0359
0.1 0.0398  0.0438  0.0478  0.0517 0.0557| 0.0596  0.0636  0.0675  0.0714  0.0753
0.2 0.0793 0.0832  0.0871 0.0910  0.0948 | 0.0987  0.1026  0.1064  0.1103  0.1141
0.3 0.1179  0.1217  0.1255 0.1293 0.1331 0.1368  0.1406  0.1443  0.1480  0.1517
0.4 0.1554  0.1591 0.1628  0.1664  0.1700 | 0.1736  0.1772  0.1808  0.1844  0.1879
0.5 0.1915 0.1950  0.1985 02019  0.2054| 0.2088 02123 02157 02190  0.2224
0.6 0.2257  0.2291 0.2324  0.2357 02389 02422  0.2454 02486 02517  0.2549
0.7 0.2580  0.2611 02642  0.2673 02704 02734 02764 02794 02823  0.2852
0.8 0.2881 02910 02939 0.2967 029951 03023  0.3051 0.3078 03106  0.3133
09 03159 03186 03212  0.3238 03264 03289  0.3315  0.3340  0.3365 0.3389
1.0 0.3413 0.3438  0.3461 0.3485 0.3508 |  0.3531 0.3554 03577 03599  0.3621
1.1 0.3643 0.3665 0.3686  0.3708 037291 03749 03770 03790  0.3810  0.3830
1.2 0.3849 03869  0.3888  0.3907 03925 03944 0392 03980 03997  0.4015
1.3 04032 04049 04066 04082  0.4099| 04115 04131 04147 04162 04177
1.4 04192 04207 04222 04236 04251 04265 04279 04292 04306 04319
1.5 0.4332 04345 0.4357 04370 04382 04394 04406 04418 04429  0.4441
1.6 0.4452  0.4463 04474 04484 04495 04505 04515 04525  0.4535 0.4545
1.7 04554 04564  0.4573 04582 04591 04599 04608 04616  0.4625 0.4633
1.8 0.4641 0.4649  0.4656 04664 04671 04678 04686 04693 04699  0.4706
1.9 0.4713 04719 04726 04732  04738] 04744 04750 04756  0.4761 0.4767
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S = R B

) n=_15
0.2 04 0.5 0.6 0.8
0 0.0352 0.0005 0.0000 0.0000 0.0000
1 0.1671 0.0052 0.0005 0.0000 0.0000
2 0.3980 0.0271 0.0037 0.0003 0.0000
3 0.6482 0.0905 0.0176 0.0019 0.0000
4 0.8358 0.2173 0.0592 0.0093 0.0000
5 0.9389 0.4032 0.1509 0.0338 0.0001
6 0.9819 0.6098 0.3036 0.0950 0.0008
7 0.9958 0.7869 0.5000 0.2131 0.0042
8 0.9992 0.9050 0.6964 0.3902 0.0181
9 0.9999 0.9662 0.8491 0.5968 0.0611
10 1.0000 0.9907 0.9408 0.7827 0.1642
11 1.0000 0.9981 0.9824 0.9095 0.3518
12 1.0000 0.9997 0.9963 0.9729 0.6020
13 1.0000 1.0000 0.9995 0.9948 0.8329
14 1.0000 1.0000 1.0000 0.9995 0.9648
15 1.0000. 1.0000 1.0000 1.0000 1.0000
PO = B B
A
X 2 3 4 5 6
0 0.1353 0.0498 0.0183 0.0067 0.0025
1 0.4060 0.1991 0.0916 0.0404 0.0174
2 0.6767 0.4232 0.2381 0.1247 0.0620
3 0.8571 0.6472 0.4335 0.2650 0.1512
4 0.9473 0.8153 0.6288 0.4405 0.2851
5 0.9834 0.9161 0.7851 0.6160 0.4457
6 0.9955 0.9665 0.8893 0.7622 0.6063
7 0.9989 0.9881 0.9489 0.8666 0.7440
8 0.9998 0.9962 0.9786 0.9319 0.8472
9 1.0000 0.9989 0.9919 0.9682 0.9161
10 1.0000 0.9997 0.9972 0.9863 0.9574
11 1.0000 0.9999 0.9991 0.9945 0.9799
12 1.0000 1.0000 0.9997 0.9980 0.9912
13 1.0000 1.0000 0.9999 0.9993 0.9964
14 1.0000 1.0000 1.0000 0.9998 0.9986
15 1.0000 1.0000 1.0000 0.9999 0.9995
¢ 534 B R
a
FIEh 0.005 0.01 0.025 0.05 0.1
4 4.6041 3.7469 2.7764 2.1318 1.5332
5 4.0321 3.3649 2.5706 2.0150 1.4759
6 3.7074 3.1427 2.4469 1.9432 1.4398
7 3.4995 2.9980 2.3646 1.8946 1.4149
8 3.3554 2.8965 2.3060 1.8595 1.3968
9 3.2498 2.8214 2.2622 1.8331 1.3830
F VA% B B (A
nl a = 0.05 a=0.1
n2 2 3 4 5 2 3 4 5
2 19.0000  19.1643  19.2468  19.2964 9.0000 9.1618 9.2434 9.2926
3 9.5521 9.2766 9.1172 9.0135 5.4624 5.3908 5.3426 5.3092
4 6.9443 6.5914 6.3882 6.2561 4.3246 4.1909 4.1072 4.0506
5 5.7861 5.4095 5.1922 5.0503 3.7197 3.6195 3.5202 3.4530
6 5.1433 47571 4.5337 4.3874 3.4633 3.2888 3.1808 3.1075
7 4.7374 4.3468 4.1203 3.9715 3.2574 3.0741 2.9605 2.8833
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